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class Assignment5_6

{
public static void main(String[] args){

int a=7, b=3, c=12;
int ansl, ans2, ans3, ans4;

/] EEFDEGIERIIE. 000/DT
// L] L] L] L]

ansl = a%b+c;

// BEFDEBMRIRNIIL 0oo/xdDT
// e o o o
ans2 = a%(b+c);

/] BEFDEMGIENIE. 0coo/xDT
// L] L] L] L]
ans3 = a%b*c;

// BEFDOEBITIENIE. 000/XMDT
// L] L] L] L]

ans4 = a*b%c;

System.out.println("ansl="+ansl);
System.out.println("ans2="+ans2);
System.out.println("ans3="+ans3);
System.out.println("ans4="+ans4);
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BEHTHDIHESDOEWRAHIL 1591.06 kcal TI
M THDBESDERNHEIS 1370.72 kcal TT



